Lattice Multiplication (J)

Use lattice multiplication to find each product.

2 5 3 2 6 1 0 1 0
3
9
2
6
1
25326 x 39261 = 10103 x 85781 =
6 1 8 0 0 7 0 3 4
2
8
4
9
1
61800 x 28491 = 70345 x 35602 =
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Lattice Multiplication (J) Answers

Use lattice multiplication to find each product.

2 5 3 2 6 1 0 1 0 3

0 1 0 0 1 3 0 0 0 0 2 8
0 6 5 9 6 8 0 8 0 8 0 4

1 4 2 1 5 9 0 0 0 0 1 5
9 8 5 7 8 4 8 5 0 5 0 5

0 1 0 0 1 2 0 0 0 0 2 7
9 4 0 6 4 2 6 7 0 7 0 1

1 3 1 1 3 6 0 0 0 0 2 3
4 2 0 8 2 6 6 8 0 8 0 4

0 0 0 0 0 1 0 0 0 0 0 1
3 2 5 3 2 6 6 1 0 1 0 3

2 4 0 8 6 4 5 4 4 3

25326 x 39261 = 994,324,086 10103 x 85781 = 866, 645,443
6 1 8 0 0 7 0 3 4 5

1 0 1 0 0 2 2 0 0 1 1 3
1 2 2 6 0 0 2 1 0 9 2 5

4 0 6 0 0 8 3 0 1 2 2 5
7 8 8 4 0 0 5 5 0 5 0 5

2 0 3 0 0 4 4 0 1 2 3 6
6 4 4 2 0 0 0 2 0 8 4 0

5 0 7 0 0 9 0 0 0 0 0 0
0 4 9 2 0 0 4 0 0 0 0 0

0 0 0 0 0 1 1 0 0 0 1 )
7 6 1 8 0 0 4 4 0 6 8 0

4 3 8 0 0 2 2 6 9 0

61800 x 28491 = 1,760,743,800 70345 x 35602 = 2,504,422, 690
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